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BIOLOGY

BOOKS - SARAS PUBLICATION

Chromosomal Basis of Inheritance

1. Which of the following sentences are
correct?

1. The offspring exhibit only parental


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tZ1IZuqTrEBT

combinations due to incomplete linkage.
2. The linked genes exhibit some crossing over
in complete linkage.
3. The separation of two linked genes are
possible in incomplete linkage.
4. Crossing over is absent in complete linkage.
A.land 2
B.2and 3

C.3and 4

D.1and 4

Answer:


https://dl.doubtnut.com/l/_tZ1IZuqTrEBT

° Watch Video Solution

2. Changing the codon AGC to AGA represents

A. Missense mutation

B. Nonsense mutation

C. Frameshift mutation

D. Deletion mutation

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_tZ1IZuqTrEBT
https://dl.doubtnut.com/l/_hdkslrQ7rz8S

3. How many map units separate two alleles A

and B if the recombination frequency is 0.09?

A. 900cm

B. 90cm

C.9cm

D. 0.09

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hdkslrQ7rz8S
https://dl.doubtnut.com/l/_9EQEn8dZgeFE
https://dl.doubtnut.com/l/_ztrlPCYLr8b0

4. n which stage does crossing over occur in a

cell

A. Leptotene

B. pachytene

C. Diplotene

D. Zygotene

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ztrlPCYLr8b0
https://dl.doubtnut.com/l/_WrA6tpTDlhwo

5. Datura is a classical example of

A. Tetrasomy

B. Trisomy

C. Monosomy

D. Nullisomy

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WrA6tpTDlhwo

6. Draw the diagram of different types of

aneuploidy.

o Watch Video Solution

7. What is the difference between mis-sense

mutation and non-sense mutation?

o Watch Video Solution

8. What is gene mapping? Write its uses.



https://dl.doubtnut.com/l/_t9UNHSAS418E
https://dl.doubtnut.com/l/_TxCupTrVr3AN
https://dl.doubtnut.com/l/_wT1J5eXmTmfh

o Watch Video Solution

9. Write the salient features of Sutton and

Boveri concept.

° Watch Video Solution

10. What is colchicine? Will it affect the source

plant?

o Watch Video Solution



https://dl.doubtnut.com/l/_wT1J5eXmTmfh
https://dl.doubtnut.com/l/_MnDUSiv5kGy7
https://dl.doubtnut.com/l/_yo9tEi24BuVZ
https://dl.doubtnut.com/l/_TYUfzY48wY8V

11. What is colchicine? Will it affect the source

plant?

o Watch Video Solution

12. What happens during inversion?

o Watch Video Solution

13. Mention the name of man-made cereal.

How it is developed?

| & I


https://dl.doubtnut.com/l/_TYUfzY48wY8V
https://dl.doubtnut.com/l/_5k1LJ1hcXbU2
https://dl.doubtnut.com/l/_1uBEVbXv05YN

| ¥ Watch Video Solution |

14. When two different genes came from same
parent they tend to remain together.

Draw the cross with suitable example.

o Watch Video Solution

15. Write the steps involved in molecular

mechanism of DNA recombination.

o Watch Video Solution



https://dl.doubtnut.com/l/_1uBEVbXv05YN
https://dl.doubtnut.com/l/_ebJIyreISwWs
https://dl.doubtnut.com/l/_lMZhi4fy3CRg

16. Write briefly about the type of linkage in

male Drosophila.

° Watch Video Solution

17. Multiple alleles may be present within a
population, but an individual had only two of

those alleles. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_atQ1afuhzkiY
https://dl.doubtnut.com/l/_zqltWDQMw2Nm

18. If you cross dominant genotype PV /PV
male Drosophila with double recessive female
and obtain F7 hybrid. Now you cross F; male
with double recessive female.

Draw the cross with correct genotype.

o Watch Video Solution

19. If you cross dominant genotype PV /PV
male Drosophila with double recessive female

and obtain F7 hybrid. Now you cross F; male


https://dl.doubtnut.com/l/_tDjSJbtHSATI
https://dl.doubtnut.com/l/_Bt6uoFGOEUrx

with double recessive female.

Draw the cross with correct genotype.

° Watch Video Solution

20. If you cross dominant genotype PV /PV
male Drosophila with double recessive female
and obtain F} hybrid. Now you cross F; male
with double recessive female.

Draw the cross with correct genotype.

° Watch Video Solution



https://dl.doubtnut.com/l/_Bt6uoFGOEUrx
https://dl.doubtnut.com/l/_QklxJdeerIhw
https://dl.doubtnut.com/l/_cH26ubgZfBvx

21. If you cross dominant genotype PV /PV
male Drosophila with double recessive female
and obtain F} hybrid. Now you cross F; male
with double recessive female.

Draw the cross with correct genotype.

o Watch Video Solution

22. If you cross dominant genotype PV /PV
male Drosophila with double recessive female

and obtain F} hybrid. Now you cross F; male


https://dl.doubtnut.com/l/_cH26ubgZfBvx
https://dl.doubtnut.com/l/_Ttfe0UwygjwV

with double recessive female.

Draw the cross with correct genotype.

° Watch Video Solution

23. An allohexaploidy contains

A. Six different genomes

B. Six copies of three different genomes

C. Two copies of three different genomes

D. Six copies of one genome


https://dl.doubtnut.com/l/_Ttfe0UwygjwV
https://dl.doubtnut.com/l/_D1sIMHG1ONby

Answer:

o Watch Video Solution

24. The A and B genes are 10 cM apart on a
chromosome. If an AB/ab heterozygote is test
crossed to ab/ab, how many of each progeny
class would you expect out of 100 total

progeny?

A. 25 ABIt 25 ab, 25 Ab, 25 aB

B.10 AB, 10 ab


https://dl.doubtnut.com/l/_D1sIMHG1ONby
https://dl.doubtnut.com/l/_FHL3A8AsPYIF

C.45 AB, 45 ab

D. 45 AB, 45 ab, 5 Ab, 5 aB

Answer:

o Watch Video Solution

25. Which of the following sentences are
correct?

1. The offspring exhibit only parental
combinations due to incomplete linkage.

2. The linked genes exhibit some crossing over


https://dl.doubtnut.com/l/_FHL3A8AsPYIF
https://dl.doubtnut.com/l/_Ji4bwphlAPV6

in complete linkage.
3. The separation of two linked genes are
possible in incomplete linkage.
4. Crossing over is absent in complete linkage.
A.1and 2
B.2 and 3

C.3and 4

D.1and 4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ji4bwphlAPV6

26. Accurate mapping of genes can be done by

three point test cross because increases

A. Possibility of single cross over

B. Possibility of double cross over

C. Possibility of multiple cross over

D. Possibility of recombination frequency

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ji4bwphlAPV6
https://dl.doubtnut.com/l/_E5tjv2aeTNzM
https://dl.doubtnut.com/l/_hajkykhz7qFw

27. Due to incomplete linkage in maize, the

ratio of parental and recombinants are

A. 50:50

B. 7:1:1:1

C.964:3.6

D.1:7:7:1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_hajkykhz7qFw
https://dl.doubtnut.com/l/_RxnOw9hZ5a4v

28. Genes G S L H are located on same
chromosome. The recombination percentage
is between Land G is 15%, Sand Lis 50%, H and
S are 20%. The correct order of genes is

A. GHSL

B. SHGL

C.SGHL

D. HSLG

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_RxnOw9hZ5a4v

29. The point mutation sequence for

transition, transition, transversion and

transversion in DNA are

A AtoT, TtoA,CtoGand Gto C

B.AtoG,CtoT,CtoGand Tto A

C.CtoG,Ato G, TtoAand Gto A

D.Gand C,AtoT, TtoAand Cto G

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RxnOw9hZ5a4v
https://dl.doubtnut.com/l/_QWvREuUuZ4Ks

30. If haploid number in a cell is 18. The double

monosomic and trisomic number will be

A. 35 and 37

B. 34 and 35

C.37 and 35

D.17 and 19

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_QWvREuUuZ4Ks
https://dl.doubtnut.com/l/_JxxKH26GrOqK

31. Changing the codon AGC to AGA represents

A. Missense mutation

B. Nonsense mutation

C. Frameshift mutation

D. Deletion mutation

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ezDa3S16eHgO

32. Asserlion (A) : Gamma rays are generally
use to induce mutation in wheat varieties.
Reason (R) : Because they carry lower energy

to non-ionize electrons from atom

A. Ais correct. R is correct explanation of A

B. A is correct. R is not correct explanation

of A

C.Ais correct. R is wrong explanation of A

D. A and R is wrong.


https://dl.doubtnut.com/l/_24MQECvfSm9s

Answer:

o Watch Video Solution

33. How many map units separate two alleles A

and B if the recombination frequency is 0.09?

A. 900 cm

B.90 cm

C.9cm

D.09cmd


https://dl.doubtnut.com/l/_24MQECvfSm9s
https://dl.doubtnut.com/l/_Laxlk58hsOu6

Answer:

o Watch Video Solution

34. Name the biologist who first suggested

the occurrence of distinct pair of

chromosomes.

A. T.Boveri

B. Montgomery

C. Wilhelm Roux

D. Correns


https://dl.doubtnut.com/l/_Laxlk58hsOu6
https://dl.doubtnut.com/l/_z24Z6GbftEHa

Answer:

o Watch Video Solution

35. Who independently proposed the

chromosome theory of inheritance?

A. Sutton and Boveri

B. De Vries and Tschermak

C. Mendel and Correns

D. Roux and Boveri


https://dl.doubtnut.com/l/_z24Z6GbftEHa
https://dl.doubtnut.com/l/_JkmIDkwy9JLL

Answer:

o Watch Video Solution

36. Thomas Morgan confirmed chromosomal

theory of inheritance by studying on.

A. Pea plant

B. Maize plant

C. Drosophila melanogaster

D. Horsetail plant


https://dl.doubtnut.com/l/_JkmIDkwy9JLL
https://dl.doubtnut.com/l/_JT7iwVBWHwuI

Answer:

o Watch Video Solution

37. During which phase do the homologous

chromosomes segregate

A. Metaphase |l

B. Telophase I

C. Anaphase |

D. Prophase |


https://dl.doubtnut.com/l/_JT7iwVBWHwuI
https://dl.doubtnut.com/l/_QZruV4kpiQjM

Answer:

o Watch Video Solution

38. The theory proposed by William Bateson

and Reginald Punnett upon studying in sweet

pea is.

A. Coupling and repulsion theory

B. Theory of gene linkage

C. Law of independent assortment

D. Chromosomal theory of heredity


https://dl.doubtnut.com/l/_QZruV4kpiQjM
https://dl.doubtnut.com/l/_Yvi6TQ2c7jSG

Answer:

o Watch Video Solution

39. How many types of linkage were foun by

T.H. Morgan.

A. One type of linkage

B. Two types of linkage

C. Three types of linkage

D. Four types of linkage


https://dl.doubtnut.com/l/_Yvi6TQ2c7jSG
https://dl.doubtnut.com/l/_Bo6pCKcQgsuz

Answer:

o Watch Video Solution

40. Complete linkage was observed by C.B.

Bridges in.

A. Male Drosophila

B. Maize

C. Neurospora

D. Mucor


https://dl.doubtnut.com/l/_Bo6pCKcQgsuz
https://dl.doubtnut.com/l/_zgiLP4bKt44a

Answer:

o Watch Video Solution

41. Number of linkage groups found in maize

is.

A.2

B.7

C.4

D.10


https://dl.doubtnut.com/l/_zgiLP4bKt44a
https://dl.doubtnut.com/l/_FhsgcMq1DFR3

Answer:

o Watch Video Solution

42.Who coined the term 'crossing over'?

A. Morgan

B. Bateson

C. Mendel

D. Reginald Punnett

Answer:


https://dl.doubtnut.com/l/_FhsgcMq1DFR3
https://dl.doubtnut.com/l/_hGdiO8IPveEK

° Watch Video Solution

43, Pairing of homologous chromosomes can

be seen during

A. Leptotene

B. Diplotene

C. Pachytene

D. Zygotene

Answer:



https://dl.doubtnut.com/l/_hGdiO8IPveEK
https://dl.doubtnut.com/l/_nyfCe7MvFQjA

44.In which stage does crossing over occur in

a cell

A. Leptotene

B. Pachytene

C. Diplotene

D. Zygotene

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nyfCe7MvFQjA
https://dl.doubtnut.com/l/_us3gh1xsOvSO

45, Synaptonemal complex formation is absent

in.

A. Male Drosophila

B. Yeast

C. Female Drosophila

D. Bacteria

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_us3gh1xsOvSO
https://dl.doubtnut.com/l/_72nnJto0JF36

46. Multiple alleles were observed by East in.

A. Maize

B. Sweet peas

C. Nicotiana

D. Papaya

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_f12iMkSxN6Ao

47. Who discovered sex determination in

plants?

A. Bridges

B. Morgan

C. Punnett

D. Allen

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ejfJF5diqd06
https://dl.doubtnut.com/l/_Qu0b1jl29qw9

48. How many chromosomes are found in

Carica papaya?

A. 36 chromosomes

B. 34 chromosomes

C. 38 chromosomes

D. 32 chromosomes

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Qu0b1jl29qw9

49, How many alleles control sex

determination in papaya?

A. Two alleles

B. Three alleles

C. Four alleles

D. Six alleles

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YaVfIzxEhgKC
https://dl.doubtnut.com/l/_ARYsdaGCKURk

50. Name the hormone that plays an

important role in the suppression of stamens

in maize.

A. AuXllns

B. Abscisic acid

C. Cytokinin

D. Gibberellins

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ARYsdaGCKURk
https://dl.doubtnut.com/l/_SAQ7Hmbeh4fm

51. Who coined the term 'mutation'?

A. Morgan

B. C.E. Allen

C. Hugo de Vries

D. Alfred Sturtevant

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SAQ7Hmbeh4fm

52. Who developed the concept of gene

mapping

A. Morgan

B. C.E. Allen

C. Hugo de Vries

D. Alfred Sturtevant

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eVia0nuXbmsA
https://dl.doubtnut.com/l/_04vdlG1FV5iU

53. Mutation was observed by De Vries while

studying on the plant...........

A. Oenothera lamarckiana

B. EQuisetum

C. Zea mays

D. Melandrium album

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_04vdlG1FV5iU

54. What is the other name for silent

mutation?

A. Missense mutation

B. Indel mutation

C. Frameshift mutation

D. Synonymous mutation

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bV30byb4Xu2K
https://dl.doubtnut.com/l/_IvIbrGgHq8sF

55. Who was the first to find out physical

mutagen in Drosophila?

A. Muller

B. Mendel

C. Morgan

D. Montgomery

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_IvIbrGgHq8sF

56. Sharbati sonora is a mutant variety of .

A. Maize

B. Corn

C. Wheat

D. Rice

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ecGfrlBigfWu

57. Sharbati sonora is developed from

MeXllcan variety by

A. Treating with beta rays

B. Irradicating with X-rays

C.Irradiating with cosmic rays

D. Irradiating with gamma rays

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EoYSCGG0sYx4
https://dl.doubtnut.com/l/_kmIQCt7xwDEO

58. is father of '"Indian Green

Revolution"

A. Birbal Sahni

B. M.S. Swaminathan

C. B.G.L S wamy

D. Janaki Ammal

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kmIQCt7xwDEO

59. Caster Aruna is developed by treatment of

seeds with...............

A. Alpha rays

B. Ultraviolet rays

C. Cosmic rays

D. Neutrons

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6IJDZvTZkIoF
https://dl.doubtnut.com/l/_5KKixoa9woqC

60. Which is not a chemical mutagen?

A. Nitrous acid

B. Magnus salt

C. Ethyl alcohol

D. Eosin

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5KKixoa9woqC

61. Which chemical can enhance the effects of

known mutagens?

A. Caffeine

B. Sodium chloride

C. Sulphuric acid

D. Carbon monoXllde

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_D2bii3kSUavf
https://dl.doubtnut.com/l/_fjp9IiddkJg1

62. What did Muller use for the first time to

induce mutation in fruit fly?

A. Gamma rays

B. Cosmic rays

C. Beta rays

D. X rays

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fjp9IiddkJg1

63. Who first reported chemcial mutagenesis?

A. Muller

B. Stadler

C. Auerbach

D. Hugo de Vries

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WXQPIfdDyZup

64. Type of ploidy seen in Raphanobrassica.

A. Autopolyploidy

B. Aneuploidy

C. Allopolyploidy

D. Hexaploidy

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_foMkOQLPvz1s

65. Which chemical induces polyploidy in

plants?

A. Cochicine

B. Mustard gas

C. Methyl methane sulphonate

D. Erythrosine

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ip4kasyAOLSx
https://dl.doubtnut.com/l/_U3Ji49bUw8dl

66. Which is the first successful man made

cereal?

A. Maize

B. Rye

C. Wheat

D. Triticale

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_U3Ji49bUw8dl

67. Which is not a man made autotriploid?

A. Cynodon dactylon

B. Watermelon

C. Tomato

D. Sugar beet

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2OavHrmmwKpy

68. Presence of some genes in more than two

copies were first reported in............

A. Maize

B. Pea

C. Drosophila

D. Corn

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5jxkilZxYlXU
https://dl.doubtnut.com/l/_qrqv9TSZAFqC

69. Duplication is not observed in.

A. Maize

B. Pea

C. Drosophila

D. Corn

Answer:

° Watch Video Solution

70. Who first reported inversion in Drosophila.


https://dl.doubtnut.com/l/_qrqv9TSZAFqC
https://dl.doubtnut.com/l/_UvGOBj5gcF4f

A. Sturtevant

B. Muller

C. Hugo de Vries

D. C.E. Allen

Answer:

° Watch Video Solution

71. Which statement is true about null

mutation?


https://dl.doubtnut.com/l/_UvGOBj5gcF4f
https://dl.doubtnut.com/l/_ZdQi02KHe5c8

A. Increases normal function

B. Reduces normal function

C. Eliminates normal function

D. Gains function

Answer:

o Watch Video Solution

72. What happens in nonsense mutation?


https://dl.doubtnut.com/l/_ZdQi02KHe5c8
https://dl.doubtnut.com/l/_OtGWlSACIPvp

A.There is no change in the encoded

amino acid

B. shifts triplet reading of codons out of

correct phase

C. Changes the encoded amino acid

D. Creates traslational termination codon

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OtGWlSACIPvp

73. What is known as procentric synapsis?

A. Initiation of intimate pairing between

two homologous chromosomes from

middle of the chromosome.

B. Initiation of intimate pairing between

two homologous chromosomes from

telomeres.

C. Initiation of intimate pairing between

non homologous chromosomes from


https://dl.doubtnut.com/l/_qAEJgUfWaceX

telomeres.

D. Initiation of pairing from anywhere.

Answer:

O Watch Video Solution

A. Euploidy

B. Aneuploidy

C. Hyperploidy


https://dl.doubtnut.com/l/_qAEJgUfWaceX
https://dl.doubtnut.com/l/_V8POafbuSCd4

D. Hypoploidy

Answer:

° Watch Video Solution

75. Raphanobrassica is a cross between

Raphanus sativus and................

A. Brassica carinata

B. Brassica juncea

C. Brassica rapa


https://dl.doubtnut.com/l/_V8POafbuSCd4
https://dl.doubtnut.com/l/_Ea4K6HOU8C6n

D. Brassica oleracea

Answer:

° Watch Video Solution

76. What are linked genes connected together

on sex chromosoes called as.

A. Complete linkage

B. Incomplete linkage

C. Sex linkage


https://dl.doubtnut.com/l/_Ea4K6HOU8C6n
https://dl.doubtnut.com/l/_idjfhb2IHuSj

D. Autosomal linkage

Answer:

o Watch Video Solution

77.Datura is a classical example of.

A. Tetrasomy

B. Trisomy

C. Monosomy

D. Nullisomy


https://dl.doubtnut.com/l/_idjfhb2IHuSj
https://dl.doubtnut.com/l/_nZyltFE7fApX

Answer:

o Watch Video Solution

78. In a mutation event, when adenine is

replaced by thymine, it is known as.

A. Silent mutation

B. Transition

C. Transversion

D. Nonsense mutation


https://dl.doubtnut.com/l/_nZyltFE7fApX
https://dl.doubtnut.com/l/_lnzDEPFueb3m

Answer:

o Watch Video Solution

79. Mutual exchange of genetic material

between homologous chromosomes take

place N

A. Translocation

B. Crossing over

C. Deletion

D. Duplication


https://dl.doubtnut.com/l/_lnzDEPFueb3m
https://dl.doubtnut.com/l/_x0ChfDRTZToi

Answer:

o Watch Video Solution

80. If the recombination frequency value is

more than 50% the two genes are.

A. Linked

B. Unlinked

C. Identical

D. Non-identical


https://dl.doubtnut.com/l/_x0ChfDRTZToi
https://dl.doubtnut.com/l/_ognrZxmuDamP

Answer:

o Watch Video Solution

81. One centi Morgan s

A. 0.1

B.1

C.0.01

D.10


https://dl.doubtnut.com/l/_ognrZxmuDamP
https://dl.doubtnut.com/l/_7t6IoBr4Zuwg

Answer:

o Watch Video Solution

82. Distance between two linked genes is

measured in map units that depict.........

A. Ratio of crossing over betwen them

B. Cross over value

C. Number of genes between them

D. None of the above


https://dl.doubtnut.com/l/_7t6IoBr4Zuwg
https://dl.doubtnut.com/l/_PMjBPOsFBu3r

Answer:

o Watch Video Solution

83. Sex determination in humans controlled by

A. x-chromosome.

B. y-chromosome.

Answer:



https://dl.doubtnut.com/l/_PMjBPOsFBu3r
https://dl.doubtnut.com/l/_tDvgPYZR5UVj

° Watch Video Solution

1. What is difference between missense and

nonsense mutation.

o Watch Video Solution

2.ABCCBDEFGHI

From the above figure identify the type of


https://dl.doubtnut.com/l/_tDvgPYZR5UVj
https://dl.doubtnut.com/l/_tbN4yhNgFzcX
https://dl.doubtnut.com/l/_pJBwnXu2p68I

mutation and explain it.

o Watch Video Solution

3. Draw the diagram of different types of

aneuploidy.

° Watch Video Solution

4. Write the salient features of Sutton and

Boveri concept.

o Watch Video Solution



https://dl.doubtnut.com/l/_pJBwnXu2p68I
https://dl.doubtnut.com/l/_ou4TN85BHEM4
https://dl.doubtnut.com/l/_Uwyln4M6ZHTs

5. What is gene mapping? Write its uses.

o Watch Video Solution

6. When two different genes came from same
parent they tend to remain together.

What is the name of this phenomenon?

o Watch Video Solution



https://dl.doubtnut.com/l/_Uwyln4M6ZHTs
https://dl.doubtnut.com/l/_OkLtoMl1dK7A
https://dl.doubtnut.com/l/_vXYhvQq26zXj

7. What two different genes came from same
parent, they tend to remain together.

Draw the cross with suitable example.

o Watch Video Solution

8. When two different genes came from same
parent they tend to remain together.

Write the observed phenotypic ratio.

o Watch Video Solution



https://dl.doubtnut.com/l/_TpsuhIJ2d9ww
https://dl.doubtnut.com/l/_8qJHDUtlhfHg
https://dl.doubtnut.com/l/_pkNVPMzN83mu

9. If you cross dominant genotype PV /PV male
Drosophila with double recessive female and
obtain F; hybrid. Now you cross F; male with
double recessive female.

Draw the cross with correct genotype.

o Watch Video Solution

10. If you cross dominant genotype PV /PV
male Drosophila with double recessive female

and obtain F7 hybrid. Now you cross F; male


https://dl.doubtnut.com/l/_pkNVPMzN83mu
https://dl.doubtnut.com/l/_7a62dxwhBkgX

with double recessive female.

Draw the cross with correct genotype.

° Watch Video Solution

11. If you cross dominant genotype PV /PV male
Drosophila with double recessive female and
obtain F; hybrid. Now you cross F; male with
double recessive female.

Draw the cross with correct genotype.

° Watch Video Solution



https://dl.doubtnut.com/l/_7a62dxwhBkgX
https://dl.doubtnut.com/l/_Zcj4mFfapW0m
https://dl.doubtnut.com/l/_OikmFO8fiAA9

12. Explain the mechanism of crossing over.

° Watch Video Solution

13. Write the steps involved in molecular

mechanism of DNA recombination.

o Watch Video Solution

4. How is Nicotiana exhibit  self-

incompatibility? Explain its mechanism.

| e |


https://dl.doubtnut.com/l/_OikmFO8fiAA9
https://dl.doubtnut.com/l/_w9t2NT5AlPdH
https://dl.doubtnut.com/l/_6Y5C5QamtAug

& Wwatch Video Solution ]

15. How is sex determined in maize? Write

their genes involved in it.

o Watch Video Solution

16. Mention the name of man-made cereal?

How is it formed?

° Watch Video Solution



https://dl.doubtnut.com/l/_6Y5C5QamtAug
https://dl.doubtnut.com/l/_EFBWuEbRs66P
https://dl.doubtnut.com/l/_1uIV96APChrY
https://dl.doubtnut.com/l/_TEOAaimvCYpQ

17. State chromosomal theory of inheritance.

° Watch Video Solution

18. Define sex linkage.

° Watch Video Solution

19. What is meant by cis configuration?

° Watch Video Solution



https://dl.doubtnut.com/l/_TEOAaimvCYpQ
https://dl.doubtnut.com/l/_wie08jipx4pp
https://dl.doubtnut.com/l/_i8q8HqXHzkOB
https://dl.doubtnut.com/l/_sQGne4PpC5Mg

20. What is meant by trans configuration?

° Watch Video Solution

21. What are the types of linkages found by

Morgan?

o Watch Video Solution

22. On what basis did Morgan classify linkages.

o Watch Video Solution



https://dl.doubtnut.com/l/_sQGne4PpC5Mg
https://dl.doubtnut.com/l/_FJyeV6rJM3F7
https://dl.doubtnut.com/l/_2JLIeF4YZsDJ

23. Define linkage groups.

o Watch Video Solution

24. Define linkage groups.

o Watch Video Solution

25. How to construct a gene map?

o Watch Video Solution



https://dl.doubtnut.com/l/_nZpMIRQSNT0z
https://dl.doubtnut.com/l/_DhuVMjPyPYM3
https://dl.doubtnut.com/l/_bx8zJRMQSeKG

26. Differentiate tetrasomy from tetraploidy.

o Watch Video Solution

27. What is difference between missense and

nonsense mutation.

° Watch Video Solution

28. What is the biological process that takes

place during pachytene stage of prophase I of


https://dl.doubtnut.com/l/_EeI3iKxYedic
https://dl.doubtnut.com/l/_h4vqmWOap0fb
https://dl.doubtnut.com/l/_OJxGQMjYFPrS

meiosis?.

o Watch Video Solution

29. Differentiate linked genes from synthetic

genes.

° Watch Video Solution

30. What are the two types of crossing over
based on the site of occurrence? Write their

differences.


https://dl.doubtnut.com/l/_OJxGQMjYFPrS
https://dl.doubtnut.com/l/_HwZhNKb7X4dF
https://dl.doubtnut.com/l/_1b4EdxjzU5fK

° Watch Video Solution

31. What is meant by bivalents?

° Watch Video Solution

32. Define genetic codon

° Watch Video Solution



https://dl.doubtnut.com/l/_1b4EdxjzU5fK
https://dl.doubtnut.com/l/_lfsXXtjd6jbG
https://dl.doubtnut.com/l/_JtwPDxwptnqO

33. Define chiasmata and explain what

happens at chiasmata during crossing over.

° Watch Video Solution

34. Define synaptonemal complex.

° Watch Video Solution

35. What is the contribution of Montgomery

to the historical development of chromosome


https://dl.doubtnut.com/l/_2F5qN28p7H7c
https://dl.doubtnut.com/l/_23gZqBvFULLr
https://dl.doubtnut.com/l/_BQmA3XAs89cf

theory.

o Watch Video Solution

36. Define recombinants.

o Watch Video Solution

37. Identify the given diagram A and label the

parts marked as a,b,c,d,e and f.


https://dl.doubtnut.com/l/_BQmA3XAs89cf
https://dl.doubtnut.com/l/_A7ABl39cssRP
https://dl.doubtnut.com/l/_kS7rVsXzCIll

e et F

A

o Watch Video Solution



https://dl.doubtnut.com/l/_kS7rVsXzCIll

38. Which is the widely accepted model of DNA

replication? Who has proved it?

o Watch Video Solution

39. Define recombination frequency.

o Watch Video Solution

40. What is meant by map unit?

o Watch Video Solution



https://dl.doubtnut.com/l/_ruaFuCwZRp36
https://dl.doubtnut.com/l/_h3VRmzwghNT1
https://dl.doubtnut.com/l/_a1NFI0a9PVaK

41. What are multiple alleles?

o Watch Video Solution

42. What is meant by self-incompatibility?

o Watch Video Solution

43. Write the characteristic of sexually

monomorphic plants?



https://dl.doubtnut.com/l/_a1NFI0a9PVaK
https://dl.doubtnut.com/l/_teTKKQmF0XeC
https://dl.doubtnut.com/l/_iE1b5Xa5aR7H
https://dl.doubtnut.com/l/_3d4GLmgQtBgc

o Watch Video Solution

44.What are dimorphic plants?

o Watch Video Solution

45, How is sex determined in maize? Write

their genes involved in it.

o Watch Video Solution



https://dl.doubtnut.com/l/_3d4GLmgQtBgc
https://dl.doubtnut.com/l/_d2jlZfwkajFU
https://dl.doubtnut.com/l/_glRaTnLmWfWq

46. How is sex determination in Silence

latifolia controlled?

o Watch Video Solution

47. Does environment play a mojor role in the

detetmine of sex in plants? Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_CPFCCXVwI1D7
https://dl.doubtnut.com/l/_bMepy8pcCIG7

48. What are the types of inflorescence in

maize.

o Watch Video Solution

49, List the major processes responsible for

genetic variation.

o Watch Video Solution



https://dl.doubtnut.com/l/_dmhQtzLRuf5e
https://dl.doubtnut.com/l/_RrOcgPusHlXz

50. Define mutation. Who proposed mutation

theory?

o Watch Video Solution

51. On what bases, can mutation be classified?

o Watch Video Solution

52. How can mutation be classified based on

origin? Give its major features.



https://dl.doubtnut.com/l/_iEPVB74nFrgR
https://dl.doubtnut.com/l/_wg1UrwCieF47
https://dl.doubtnut.com/l/_YhrOMzK1QACI

o Watch Video Solution

53. How are mutations classified?

o Watch Video Solution

54. Name types of mutagenesis.

o Watch Video Solution

55. What is point mutation? Give one example.



https://dl.doubtnut.com/l/_YhrOMzK1QACI
https://dl.doubtnut.com/l/_14BwAm9OW1D7
https://dl.doubtnut.com/l/_viwSIY5TSIEZ
https://dl.doubtnut.com/l/_MOU4RnppiWFL

o Watch Video Solution

56. What are the two types of point mutation?

Define them.

o Watch Video Solution

57. What are the sub types of base

substitutions?

o Watch Video Solution



https://dl.doubtnut.com/l/_MOU4RnppiWFL
https://dl.doubtnut.com/l/_hA9hpvckx41s
https://dl.doubtnut.com/l/_PKsFimQXxFJ0
https://dl.doubtnut.com/l/_1qk7iY9IuRnL

58. What is Sharbati sonora?

o Watch Video Solution

59. Write a note on mutant variety of castor.

o Watch Video Solution

60. What are physical mutagens? Give

examples.

o Watch Video Solution



https://dl.doubtnut.com/l/_1qk7iY9IuRnL
https://dl.doubtnut.com/l/_ACgLAwGEhDSn
https://dl.doubtnut.com/l/_BvvqDzuJEZIo

61. Explain the action of nitrous oXlide in

mutation.

o Watch Video Solution

62. Name and describe the interaction which is

introduced by W. Bateson.

o Watch Video Solution



https://dl.doubtnut.com/l/_BvvqDzuJEZIo
https://dl.doubtnut.com/l/_uVMbULHYU3Ih
https://dl.doubtnut.com/l/_1abTzhojjKb3

63. How are chromosomal mutation classified?

o Watch Video Solution

64. What is ploidy?

o Watch Video Solution

65. Name the types of ploidy?

o Watch Video Solution



https://dl.doubtnut.com/l/_o4Ds481rc46m
https://dl.doubtnut.com/l/_YzPstN6A25E8
https://dl.doubtnut.com/l/_36bDCgpu4Xr2

66. Write briefly about aneuploidy?

o Watch Video Solution

67. What is colchicine? Will it affect the source

plant?

o Watch Video Solution

68. Define structural chromosomal aberration.

o Watch Video Solution



https://dl.doubtnut.com/l/_w5kEtOnUNLHi
https://dl.doubtnut.com/l/_eeWXygyU8yOV
https://dl.doubtnut.com/l/_PCuBB9upCSKw

69. What causes structural chromosomal

aberration occur?

o Watch Video Solution

70. What are deficiency loops?

o Watch Video Solution

71. DNA stands for



https://dl.doubtnut.com/l/_PCuBB9upCSKw
https://dl.doubtnut.com/l/_d8eLb3mcpEET
https://dl.doubtnut.com/l/_u8gpPQTAnI5h
https://dl.doubtnut.com/l/_huCkrvmQJCg1

o Watch Video Solution

72. Define deletion

o Watch Video Solution

73. What happens during inversion?

o Watch Video Solution

74.What are the types of inversion?



https://dl.doubtnut.com/l/_huCkrvmQJCg1
https://dl.doubtnut.com/l/_AsoBoUErbcgM
https://dl.doubtnut.com/l/_v6jDNoPQ3IDF
https://dl.doubtnut.com/l/_aBjjicZBdFfW

o Watch Video Solution

75. Define translocation.

o Watch Video Solution

76. Differentiate  crossing  over

translocation.

from

o Watch Video Solution



https://dl.doubtnut.com/l/_aBjjicZBdFfW
https://dl.doubtnut.com/l/_U4HMvyXFFADO
https://dl.doubtnut.com/l/_JohsYqfnC1zD

77. What is meant by illegitimate crossing

over?

o Watch Video Solution

78. Describe allopolyploidy.

o Watch Video Solution

79. What are allopolyploids?

o Watch Video Solution



https://dl.doubtnut.com/l/_vePIfP4K3o6R
https://dl.doubtnut.com/l/_XlnTygfuNFAO
https://dl.doubtnut.com/l/_aTzAQR30rozw

80. Define branch migration.

o Watch Video Solution

81. Define Holliday. Junction.

o Watch Video Solution

82. What is a three point test cross?

o Watch Video Solution



https://dl.doubtnut.com/l/_aTzAQR30rozw
https://dl.doubtnut.com/l/_lIGUcwxb2RPH
https://dl.doubtnut.com/l/_plMCPWgXtMSF
https://dl.doubtnut.com/l/_MHRvtr7rK6ru

83. What is meant by autopolyploidy?

o Watch Video Solution

84. Explain the role of fossil genes in

understanding evolution.

o Watch Video Solution

85. What is meant by linkage?



https://dl.doubtnut.com/l/_MHRvtr7rK6ru
https://dl.doubtnut.com/l/_29B3IMmMDSRc
https://dl.doubtnut.com/l/_fr0mKHK7my7J
https://dl.doubtnut.com/l/_AfQZgghVBehq

o Watch Video Solution

86. Some species of plants and animals
identical have number of chromosomes. Can
number of chromosomes differentiate the
character of species from one another. Give

reasons.

o Watch Video Solution

87. What are autopolyploids?

| & I


https://dl.doubtnut.com/l/_AfQZgghVBehq
https://dl.doubtnut.com/l/_AWEifLi0psbP
https://dl.doubtnut.com/l/_ocS8OPuo0glQ

| ¥ Watch Video Solution |

88. How is structural chromosomal aberration

classified?

° Watch Video Solution

89. Compare Mendelian factors with

chromosome.

o Watch Video Solution



https://dl.doubtnut.com/l/_ocS8OPuo0glQ
https://dl.doubtnut.com/l/_spn1bjELByJR
https://dl.doubtnut.com/l/_bBwq4dDCjgBF
https://dl.doubtnut.com/l/_t7DRPdI5z5yw

90. Write briefly about gene

o Watch Video Solution

91. Write briefly about the type of linkage in

male Drosophila.

o Watch Video Solution

92. Give a schematic representation of

complete linkage in male Drosophila.

o Watch Video Solution



https://dl.doubtnut.com/l/_t7DRPdI5z5yw
https://dl.doubtnut.com/l/_qkdfh5jDt5Wx
https://dl.doubtnut.com/l/_z9YY2I32A5yy

93. Write the differences between linkage and

crossing over.

o Watch Video Solution

94. Why crossing over does not take place in

some species of male Drosphila?

o Watch Video Solution



https://dl.doubtnut.com/l/_z9YY2I32A5yy
https://dl.doubtnut.com/l/_QkGyiskYPnGc
https://dl.doubtnut.com/l/_BP9PGxI2Z3tv

95. How is crossing over classified? Explain its

types.

° Watch Video Solution

96. Give the importance of crossing over.

° Watch Video Solution

97. Write about map unit in genetics.

° Watch Video Solution



https://dl.doubtnut.com/l/_zunq8zyNF0E8
https://dl.doubtnut.com/l/_2i4cBFKQOH27
https://dl.doubtnut.com/l/_xS9N0YFjCpF7

98. Write the characteristics of multiple

allele's.

o Watch Video Solution

99. How are mutations classified based on

their effects on translation?

o Watch Video Solution



https://dl.doubtnut.com/l/_xS9N0YFjCpF7
https://dl.doubtnut.com/l/_VGM4JMYFJCV2
https://dl.doubtnut.com/l/_G7iH6pPxloYf

100. Classify and explain autoimmune diseases.

o Watch Video Solution

101. How are mutations classified based on

their effects on translation?

o Watch Video Solution

102. Define comutagens.

o Watch Video Solution



https://dl.doubtnut.com/l/_ULgOHvo6SbOf
https://dl.doubtnut.com/l/_pNuTchG8T58I
https://dl.doubtnut.com/l/_qN7GjSt4W6QT

103. What is the significance of ploidy?

° Watch Video Solution

104. Identify the following figures

. TERLEDECAT 3
A s :
§ OTGEAEICCAT 3
¥ ACARTTIGGTA 5

° Watch Video Solution



https://dl.doubtnut.com/l/_qN7GjSt4W6QT
https://dl.doubtnut.com/l/_SxtNMi3aeNgr
https://dl.doubtnut.com/l/_3STxOXpL9wIH
https://dl.doubtnut.com/l/_moBiRzwxoVtP

105. Somatic cell having two sets of
chromosomes is called diploidy. Half the
number of somatic chromosome is called
haploid. Is haploidy the same as monoploidy.

Explain.

° Watch Video Solution

106. Multiple alleles may be present within a
population, but an individual had only two of

those alleles. Why?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_moBiRzwxoVtP
https://dl.doubtnut.com/l/_wbdH9ZdMlfjP

107. Point out any three salient features of

chromosomal theory of inheritance.

o Watch Video Solution

108. What is a three point test cross?

o Watch Video Solution

109. How is sex determined in papaya?


https://dl.doubtnut.com/l/_wbdH9ZdMlfjP
https://dl.doubtnut.com/l/_u7kSwfQET3Mu
https://dl.doubtnut.com/l/_2zv7Prt8TmwT
https://dl.doubtnut.com/l/_POHPdVlLKycY

° Watch Video Solution

10. Explain the sex determination of

Bryophytes.

o Watch Video Solution

111. What are mutagenic agents? How is

mutation induced by physical agents?

° Watch Video Solution



https://dl.doubtnut.com/l/_POHPdVlLKycY
https://dl.doubtnut.com/l/_1nhq0HfKoWWV
https://dl.doubtnut.com/l/_1TzkRhzbD1X4
https://dl.doubtnut.com/l/_BcFo5YUlze3R

112. Define euploidy.

° Watch Video Solution

113. What is meant by hyperploidy?

° Watch Video Solution

114. Draw a flow chart depicting the various

types of ploidy.

o Watch Video Solution



https://dl.doubtnut.com/l/_BcFo5YUlze3R
https://dl.doubtnut.com/l/_yIj1QsqE8p4Z
https://dl.doubtnut.com/l/_aGbTOBO9NxOi

115. What is the type of linkage reported in
maize? Write short notes about it and give

diagram to show it.

o Watch Video Solution

116. Define hypoploidy. How is it classified?

o Watch Video Solution



https://dl.doubtnut.com/l/_aGbTOBO9NxOi
https://dl.doubtnut.com/l/_EuLQ7rKVKEAt
https://dl.doubtnut.com/l/_2TI3aD7yfN0m

117. Define polyploidy. How is it classified?

Write the merit and demerit of it.

° Watch Video Solution

118. What is meant by autopolyploidy?

° Watch Video Solution

119. What is deficiency loop? Which causes

this? Explain about the cause with its types.



https://dl.doubtnut.com/l/_IGWDNc6i1fgl
https://dl.doubtnut.com/l/_ufgOoPX31Cux
https://dl.doubtnut.com/l/_nxlVBYoZhYDx

o Watch Video Solution

120. Identify the following figures and define it.

(&) N /A
B | B B |
C C C i
& B | D
E
C
F = .
G Sl e
H g G
RS i
Normal G C
chromosome (j)l H (ii)| H .
A, e

o Watch Video Solution



https://dl.doubtnut.com/l/_nxlVBYoZhYDx
https://dl.doubtnut.com/l/_ZD0RJU1nB7P1

121. Explain the changes in (i) and (ii).

(A 0 n
n [B | B
C c iE
D B D
E
e
F = i
F
Ci e
H g G
RS i
Normal G C
chromosome (i)l H (ii)| H
S Y,

° Watch Video Solution



https://dl.doubtnut.com/l/_CFgNrGdngPsD

122. Explain the types of translocation with

diagram.

o Watch Video Solution

123. Differentiate haploidy from monoploidy.

o Watch Video Solution



https://dl.doubtnut.com/l/_Qe1xgSXWFcX0
https://dl.doubtnut.com/l/_kdo5Kgr8TB6a

